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PE SO 1:
Logical Thinking/ Tw duy logic
Q1. Refer to the number pattern below. Find the 5th term in the sequence.
Duea vao quy ludt sé dwéi ddy, tim s thir 5 trong day.
1. 8, 27, 64, _ .

A. 125 B. 100 C.65 D. 105
Q2. Tomorrow is Friday. Which day of the week was it 84 days ago?

Ngay mai la thir Sau. Hoi 84 ngay truée la thir may?
A. Saturday (Thur Bay) B. Thursday (Thiwr Nam)
C. Tuesday (Thur Ba) D. Friday (Thir Sau)

Q3. It requires 4 minutes to cut a piece of wood into 2 sections. If the time required
to cut into each section is the same, how many minutes are required to cut a piece of
wood into 3 sections?

Ngueoi ta can 4 phiit @é cuwa 1 khiic g6 thanh 2 phdn. Biét rang thoi gian méi lan cua
g6 la nhw nhau, héi can bao nhiéu phiit dé cua khiic g6 dé thanh 3 phan?

A.8 B.6 C.5 D. 10

Q4. 100 students went on a school trip by coaches. At least how many coaches are
required to carry all of the students, given that each coach can carry no more than 23
students?

1 QO hoc s,inh’ di tham quan Vfi’i t‘ru’o"nngcfng xe khdch. Hoi can it nhdt bao nhiéu xe
dé cho hét so hoc sinh do biét rang moi xe dwoc cho khong qua 23 hoc sinh?

A.3 B.6 C. 4 D.5

Q5. According to the pattern below, find the most suitable figure for group 5 among
4 answers A, B, C and D.

Duea vao quy ludt dudi day, tim dap an thich hop nhat cho nhém 5 trong 4 hinh A, B,
C, D.
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Arithmetic/ S6 hoc
Q6. Find the value of x , given that 5x + 7 = 122.
Tim gié tri cua x biét rang 5x + 7 = 122
A. 21 B. 22 C.23 D. 24
Q7.Find thevalueof0+3+6+9+ ... + 57 + 60.
Timgiatricua0+3+6+9+ ... +57+60.
A. 1260 B. 1800 C. 1890 D. 630
Q8. Calculate 23 x 18 + 39 x 23 — 7 x 23.
Tinh 23 x 18 +39 x 23 —7 x 23
A. 1150 B. 1510 C. 5150 D. 1105
Q9. Find the value of 2020 — 2000 + 1980 — 1960 + ... + 60 — 40 + 20 - 0.
Tim gia tri cua 2020 — 2000 + 1980 — 1960 + ... + 60 — 40 + 20 - 0.

A. 1000 B. 1020 C. 2040 D. 2000
: 1 1 1 1 1
Q10. Find the value of + + +on + +
2X3 3%X4 4X5 98X 99 99X 100
, P | 1 1 1 1
Tinh gia tri cua + + o, + +
2X3 3X%X4 4X5 98 X99 99X 100
49 99 49 1
L L C.— D. -
100 100 50 2

Number Theory/ Ly thuyét sé
Q11. If an 8-digit number 11120204 is divisible by 3 and 4, find the value of A.
Biét rang s6 c6 8 chir s6 11120204 chia hét cho ca 3 va 4, tim gid tri cia A.
A.2 B.6 C.8 D. 4
Q12.Find the unit digit of 6 x 16 x 26 x ... x 96 x 106.
Tim chit s6 tdn cing ciia 6 x 16 x 26 x ... x 96 x 106.
A.5 B.9 C.7 D.6
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Q13. The sum of A and B is 2020. The value of A is four times the value of B. Find
the value of A.

Téng ciia A va B la 2020. Gid tri ciia A gap 4 lan gid tri ciia B. Tim A.
A. 505 B. 1616 C. 404 D. 2525

Q14. Given that X and Y are two 3-digit odd numbers. What is the largest possible
difference between X and Y?

Biét rang X va Y 1 hai s6 1é ¢6 3 chiv s6. Hoi hiéu gitka hai s6 X va Y 16m nhdt cé thé
la bao nhiéu?
A. 899 B. 999 C. 898 D. 900
Q15. How many 3-digit numbers that are divisible by both 3 and 4 are there?
Hoi ¢6 bao nhiéu sé ¢6 ba chir so chia hét cho cd 3 va 4?
A. 80 B. 75 C. 150 D. 70
Geometry/ Hinh hoc
Q16. How many right-angled triangles are there in the figure below?

Hoi co bao nhiéu tam giac vuong trong hinh duwoi day?

A 14 B. 15 C. 17 D. 19

Q17. A big cube is formed by 8 identical cubes with side length 10 cm. Find the side
length of the big cube in cm?

Mot khéi lap phwong 16m dwoc tao ra bang c:dch ghép 8 khoi ldp phwong giong nhau
co canh dai 10 cm. Tim d¢ dai canh cua khoi ldp phwong [on theo cm.

A.30cm B. 40 cm C.80cm D.20 cm

Q18. Given a rectangle ABCD and a right-angled triangle EDC as the figure below.
Find the length of line segment BC given that ED = 6 cm, EC = 8cm, DC = 10cm.

Cho hinh chir nhdt ABCD va tam giac vuong EDC nhuw hinh duoi day. Tim do dai
doan BC biét rcfng ED =6 cm, EC =8cm, DC = 10cm.
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A E B
6em 8cm
D 10cm C
A.4.8cm B.2.4cm C.4cm D.5cm

Q19. The figure on the right is composed of identical —
cubes with side length 5 cm. If they paint all top faces of
the solid, what is the value of the painted area in cm??

Hinh bén gom cdc khoi ldp phwong giong nhau c6 d dai 1
canh 5cm. Néu nguoi ta son toan bo mat trén cua hinh yau A
do, hoi dién tich cua phd‘n dwoc son la bao nhiéu cm??
A. 160 B. 200

C. 180 D. 175

Q20. A square tile has the following pattern. Given that

the area of the shaded region is 20 cm2. Find the
perimeter of the square tile in cm. ) %

Mot mzeng gach lat hinh vuong c6 hoa tiét nhw hinh dudi /" *
dady. Biét rang phan in dagm cé dién tich 20cm2. Tinh chu ™/ /
Vi cua miéng gach lat theo cm /R

A.40cm B. 60 cm
C.80cm D. 20 cm

Combinatorics/ T6 hop
Q21. How many 2-digit numbers with no repeated digits are there?
Hoi ¢6 bao nhiéu sé ¢6 2 chir s6 khdc nhau?
A. 72 B. 90 C.81 D. 80
Q22. In how many ways can we arrange 4 students in a row?
Hoi ¢6 bao nhiéu cach sdp xép 4 hoc sinh thanh 1 hang ngang?
A. 24 B. 4 C.12 D. 10

Q23. In how many ways can 48 workers be divided into groups of equal size given
that the number of groups must be more than 1?

Hoi c6 bao nhiéu cdach dé co thé chia 48 nguwoi céng nhan thanh cic nhém cé sé
nguoi nhw nhau biét rang s6 nhom phdai lon hon 1?

A7 B.8 C.9 D. 10
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Q24. There are 15 black pens, 14 blue pens and 13 red pens in a box. At least how
many pens should be drawn without looking so that we can get pens in three colors?

Trong hop ¢ 15 but den, 14 but xanh va 13 but do. Hoi néu khong nhin vao hop thi
can lay ra it nhdat bao nhiéu cai but dé chdac chan rang ta lay duwoc but ca ba loagi
mau?

A. 42 B. 30 C.3 D. 28

Q25. How many rectangles containing the shaded region are there?

Hoi ¢6 bao nhiéu hinh chit nhdt chira phdn in dam dwéi day?

A. 16 B. 14 C.12 D. 10
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PE SO 2:
Logical Thinking/ Tw duy logic

Q1. Refer to the pattern below. How many triangles are there in the first 2021 figures
counting from left to right?

Xét quy ludt dwéi day. Hoi ¢6 bao nhiéu hinh tam gidc trong 2021 hinh ddu tién tinh
tw trdi sang phai?
AQVEHOOAOVEOOAOVEOOAOVEOO...

A.674 B.673 C. 809 D. 336

Q2. Andy has a number of cans to contain an amount of gasoline. If he pours 3 liters
in each can then he has 10 liters left. If he pours 4 liters in each can then he has 2
liters left. How many liters of gasoline does Andy have in total?

Andy c6 mot s6 can dé dung mot lwong xang. Néu anh ay do 3 lit xdang vao moi can
thi van con thira 10 lit. Néu anh dy dé 4 lit xidng vao méi can thi van con thiva 2 lit.
Hoi Andy ¢6 tat ca bao nhiéu lit xdang?

A. 24 B. 34 C.38 D.8

Q3. What is the 8th number in the sequence with pattern below?

Tim s thir 8 trong day s6 ¢6 quy ludt dwéi day?
1,2,5,14,41,

A. 1049 B. 1000 C.122 D. 1094

Q4. Observe the pattern below to find the sumof A+ B + C.

Quan sat quy ludt dudi ddy dé tim tong A + B + C.

1 2 3 4 5 6 A B

3 13 31 C

A. 75 B. 62 C.72 D. 57

Q5. A math test has 10 questions. Each correct answer receives 1 point. Wrong
answer or empty answer receives 0 point. At least how many students are required to
do the test to ensure that there are 2 students having the same score?
Mot bai kiém tra todn cé 10 cdu héi. Moi cdu tra loi dung duoc 1 diém. Tra loi sai
hodc khéng tra loi thi khéng cé diém. Hoi can it nhat bao nhiéu hoc sinh lam bai
kiém tra dé chdc chan c6 hai ban bang diém nhau?
A 12 B. 11 C.10 D. 20

Arithmetic/ S6 hoc
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. 1 1 1 1
Q6. Find the value of + + + o +—
2x4 4%x6 6Xx8 2020 x 2022
N 1 1 1
Tim gid tri cua + + + o +—
2x4 4x6 6x8 2020 x 2022
1 505 505 1
A - B.— C.— D.-
2 1011 2022 4
Q7. Find the value
h) . 7 . ? 1
Tim gia tri cua  —3
2+ =
4
11 4 4 5
A — B.— C.- D. -
4 11 5 4

Q8. Find the value of 2+ 7+ 12+ 17+ ... + 197 + 202.

Tinhgiatricua2+7+12+ 17+ ...+ 197 + 202.

A. 4281 B. 8364 C. 10302 D. 4182

Q9. What is the value of P if the equation below is correct?

Tim gid tri ciia P dé dwoc phép tinh diing dudi day.
2XP=2+6+18+54+..+4374

A. 3820 B. 3280 C. 2380 D. 2830

Q10. Let each letter M, A, T, H, K, I, O represent distinct digits. Find the value of I.
Biét cac chit cai M, A, T, H, K, I, O biéu dién cdc chit so khac nhau. Tim gia tri cua
l.

., MATH

1 2 3 4

H K I M O
A.3 B.2 C. 4 D.5

Number Theory/ Ly thuyét s

Q11. The weight of Ashley and Ben is 75kg. The weight of Ben and Chelsea is 81kg.
The weight of Chelsea and Ashley is 84kg. Dan weighs 3kg more than the average
weight of 4 friends. Find Dan’s weight in Kg.

Ashley va Ben nang 75kg. Ben va Chelsea nang 81kg. Chelsea va Ashley nang 84kg.
Biét rang Dan nang hon so can trung binh cua ca 4 ban la 3kg. Hoi Dan nang bao
nhiéu kg?

A. 44 B. 43 C.42 D. 41

Q12. Find the largest 3-digit number such that it leaves remainder 6 when divided
by 7.
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Tim s6 16m nhdt cé 3 chii s6 sao cho sé dé chia 7 duw 6.
A. 1000 B. 993 C.994 D. 995

Q13. If the 10-digit number 20212022AB is divisible by 18, find the maximum
possible value for A.

Biét 56 ¢6 10 chir s6 20212022AB  chia hét cho 18, héi gid tri I6n nhat c6 thé cia
A la bao nhiéu?

A.8 B.9 C.5 D.3

Q14. Given that 2*3 = 3+5, 3*4 = 4+7+10, 4*5 = 5+9+13+17. Find the value of 4*6

Biét rang 2*3 = 3+5, 3%4 = 4+7+10, 4*5 = 5+9+13+17. Tinh gid tri ciia 4*6.
A. 50 B.72 C.10 D. 48

Q15. To write all page numbers of a book with 100 pages, how many digits 0 do we
have to use?

Pé danh s6 toan bo s6 trang ciia 1 quyén sach 100 trang thi can bao nhiéu chir sé
0?

A.9 B. 10 C. 11 D. 12
Geometry/ Hinh hoc

Q16. Each cell in the grid below has side length 4. Find the area which are painted
red.

A

MGi 6 vubng trong luéi dwdi day c6 dé dai canh 4. Tinh dién tich phan mau do.

Math

A. 150 B. 300 C. 600 D. 664

Q17. 10 small cubes with side length 2cm are combined to form the figure below.
What is the value of its total surface area in cm??

CodeMath - Luyén thi Todn Olympic quéc té 8

& codemath.vn  (© 0346 475 489
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10 hinh ldp phuwong voi canh dai 2cm dwoc ghép lai thanh hinh duoi ddy. Hoi dién
tich toan phan cua hinh dwéi day la bao nhiéu cm®?

A. 160 B. 80 C. 40 D. 200
Q18. How many rectangles are there in the figure below?
Hoi co bao nhiéu hinh chit nhdt trong hinh dvwoi day?

A. 24 B. 54 C.34 D. 44

Q19. Nine identical squares are combined to form the figure below with perimeter
48. Find the area of the shadowed region.

Chin hinh vuong y hét nhau dwoc ghép lai thanh hinh dudi day cé chu vi la 48. Hay
tinh dién tich cua phdan duoc to dam.

/
k/

A. 24 B. 18 C. 16 D. 27
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Q20. Andy had a square piece of paper with perimeter 72 as figure 1. Then he cut
the paper into 2 identical parts to combine it into a rectangle as figure 2. Find the
perimeter of the figure 2.

Andy ¢é mot mdnh gidy hinh vuéng cé chu vi 72 nhw hinh 1. Sau @6, anh dy cat manh
gidy thanh 2 manh y hét nhau dé ghép thanh hinh 2. Tinh chu vi cia hinh 2.

|
© T 7| @ coomy

Figure 1 Figure 2

A. 80 B.78 C.76 D.74
Combinatorics/ T6 hop

Q21.

How many 3-digit numbers are there so that the number does not contain digit “1”°?
Hoi ¢6 bao nhiéu sé c6 3 chit s6 ma khéng chiva chir sé 1?

A. 488 B. 252 C. 729 D. 648

Q22.

Sarah must take 2 or 3 pills a day. She has 13 pills in total. How many different ways
are there for Sarah to take all those pills?

MGi ngay Sarah phai uong 2 hodc 3 vién thuéc. Bzet mng co ay c6 tat ca 13 vién
thuéc. Hoi ¢é bao nhiéu cach khdc nhau dé Sarah uéng hét s6 thuéc do6?

A. 13 B. 12 C.16 D. 18
Q23.

Choose 8 digits, without repetition, from 0 to 7 to form two 4-digit numbers. (E.g.
2357 and 4016). Find the greatest possible sum of these two numbers.

Chon 8 chit so (khdng Idp lai) tir 6 0 dén s6 7 dé ldp thanh hai s6 c6 4 chit s6 (Vi
du: chon so 2357 va 4016). Tim tong lon nhdt co thé cua hai so do.

A. 13951 B. 10864 C. 19351 D. 18064

Q24.

Use 4 distinct digits from 0, 2, 4, 5, 6, 7 to form 4-digit numbers divisible by 5. How
many different numbers can be formed?

10
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Chon 4 chir s khdc nhau tir cdc 56 0, 2, 4, 5, 6, 7 dé ldp thanh 56 ¢6 4 chit s6 chia
hét cho 5. Hoi co thé tao duoc bao nhiéu so nhw vay?

A.54 B. 108 C. 120 D. 240
Q25.

Anna needs to fill numbers in a long strip given below so that any 3 consecutive cells
have the sum being 100. Which number should be filled in the 100th cell counting
from the left?

Anna can dién sé vao mét dai bing dai dudi ddy sao cho 3 6 lién nhau cé tong la
100. Hoi can dién s6 bao nhiéu vao 6 thir 100 tinh tir phia bén trdi?

A. 36 B. 41 C.23 D. 59

11
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PE SO 3:
Logical Thinking/ Tw duy logic

Q1. Given A and B are two non-zero digits and the 2-digit numbers formed by these
two digits have the following properties:

1. AB is divisible by 8;
2. BA is a product of 3 different prime numbers;

Find the 3-digit number ABA

Cho A va B 1a hai chi# sé khéc 0 va cac sé ¢6 2 chir s6 tao bdi 2 chiz s nay c6 tinh
chat sau:

1. AB chia hét cho 8;

2. BA la tich cua 3 sé nguyén to khac nhau;

Tim s6 ¢6 3 chir s6 ABA

Q2. There are some chickens and rabbits, where the number of legs of chickens is 26
more than the number of legs of rabbits. If there are 362 legs in total, how many
rabbits are there?

C6 mét s6 ga va tho, sé chan ciia ga nhiéu hon sé chan ciia thé la 26 chan. Néu cé
tat ca 362 cdi chdn thi ¢é bao nhiéu con thé?

Q3. A stationery store had a batch of ball pens. One half and 3 more pens were sold
on the first day. One half of the remaining part and 9 more pens were sold on the
second day. Finally 54 ball pens are left. How many ball pen(s) did the stationery
store have originally?

MGt cika hang vin phong pham cé mét 16 but bi. Ngdy thir nhat ban dwoc 1 niva va 3
cdi bt nita. Ngay thir hai ban dwoc 1/2 s6 bit con lai va 9 cdi bit nita. Cudi cing
con lai 54 chiéc bit bi. Héi ban dau cira hang van phong pham c¢é bao nhiéu cay but
bi?

Q4.John needs 36 days to finish a project. Mary needs 12 days to finish the same
project. If John and Mary do the project together, how many day(s) do they need to
finish it?

John can 36 ngay dé hoan thanh mét duw dn. Mary can 12 ngay dé hoan thanh cuing

mét dir an. Néu John va Mary lam dw dn ciing nhau, ho cdn bao nhiéu ngay dé hoan
thanh no?

Q5. There are 8 blue balls, 7 red balls and 9 green balls in a bag. At least how many
balls should be picked up to ensure there are 2 balls for each colour?

12
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Trong mot hop co 8 qua bong xanh dwong, 7 qua bong do va 9 qua bong xanh ld
cdy. Hoi phai nhdt it nhat bao nhiéu qud béng dé méi mau cé 2 qud béng?

Arithmetic/ Sé hoc
Q6. Find the value of 111111 x 1111111
Timgiatri cua 111111 x 1111111

. 1 1 1 1 1
Q7. Find the value of + + + . + +
3X4 4X5 5X6 15x16 16X 17
~ . s . 1 1 1 1 1
Tim gia tri cua + + +.. + +
3X4 4X5 5X6 15X 16 16 X 17

Q8.Findthevalueof1 x2+2x3+3X4+4X5+5X6+6X7+7Xx8+8x%9
+9 x 10.

Timgiatricial x2+2XxXx3+3X4+4X5+5X6+6X7+7Xx8+8x9+9x
10.

Q9. Find the value of 16 x 64 - 282

Tim gi& tri ciia 16 x 64 - 282

Q10. Find the value of = +9+—+—+—+i

27 81 243 729

1
Tim gia trj cua B R e
3 9 27 81 243 729

Number Theory/ Ly thuyét s6
Q11. If a 9-digit number 2018A905B is divisible by 44, find the value of A + B.
Néu mét sé ¢6 9 chir s6 2018A905B chia hét cho 44, hay tim gia tri cua A + B.
Q12. Find the number of factors for 480.
Tim sé woc cua 480.
Q13. Define the operation symbola® b =a x b —b — 7, find the value of 11 ® (8
® 9)
Dinh nghia phép toan moia® b=axb-b—-7,timgiatricuall ® (8 ®9)
Q14. A teacher gives some candies to students. If everyone gets 11 candies, 23

candies will be left. If everyone gets 7 candies, 91 candies will be left. How many
candies does the teacher have?

C6 gido tang cho hoc sinh mét s6 keo. Néu méi ngueoi dwroc 11 cai keo thi con lgi 23
cai keo. Néu maoi nguoi dwoc 7 céi Keo thi con lai 91 cdi keo. Hdi co gido ¢ bao
nhiéu cai keo?

Q15. How many 3-digit number(s) that can be divisible by 3 and of unit digit 4 is are
there?

C6 bao nhiéu sé ¢d 3 chiz s6 chia hét cho 3 va chir so hang don vi 1a 4?

13
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Geometry/ Hinh hec
Q16. How many rectangle(s) is / are there in the figure below?
C06 bao nhiéu hinh chiz nhdt trong hinh dudi ddy?

Q17. After cutting 3 cm from 2 neighboring sides of a square card, we get a small
square. The area of the smaller square is 63cm? less than the original square. Find the
perimeter of the original square.

Sau khi cat 3cm & 2 canh ké cia tam thiép hinh vuong ta dwoc hinh vuong nho. Dién
tich hinh vuéng nhé hon hinh vuéng ban dau la 63cm?® Tim chu vi hinh vudng ban
dau.

Q18. 24 small cubes with side length 1cm are combined. According to the pattern
shown below, find the surface area in cm?

Nguoi ta ghép 24 hinh Idp phwong nhé c6 canh Iem. Theo mau hién thi bén duwdi,
hay tim dién tich bé mdt tinh bang cm?

HFH

Q19. What is sum of interior angles of a nonagon (9-sided polygon)?
Tong céc goc trong cua mgt hinh khéng doi ximg (da gidc 9 canh) 1a gi?
Q20. Find the area of the non-shaded region in the figure.

Tim dién tich phan khong t6 mau trong hinh.

22 G

F_8

22

D
B C

Combinatorics/To hop

14
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Q21. Amy draws all triangles which perimeter is 17cm and length of sides are
integers. How many different types of triangle(s) does she draw? (triangles with sides
(5,5,6) and (5,6,5) are regarded as the same type of triangle)
Amy Vé tat cd cdc hinh tam gidc ¢6 chu vi la 17cm va d dai cac canh la sé nguyén.
Cé dy vé bao nhiéu loai hinh tam gidc khdc nhau? (cdc tam gidc ¢é cdc canh (5,5,6)
va (3,6,5) dwoc coi la cung mot loai tam gidac)
Q22. Five students join a competition. Only top 3 students can get an award. How
many different way(s) of getting awards is / are there?
Nam hoc sinh tham gia mot cugc thi. Chi 3 sinh vién hang dau cé thé nhdn dwoc mot
gidi thuéng. C6 bao nhiéu cach khéc nhau dé nhan gidi thuong?
Q23. At least how many of 169 children that were born in the same Chinese zodiac
year? (There are 12 different Chinese zodiac years)
C6 it nhdt bao nhiéu dira tré trong s6 169 dira tré dirge sinh ra trong ciing mét ndm
hoang dao? (C6 12 ndam hodng dao khdc nhau cia Trung Quoc)
Q24. Numbers are drawn from 55 integers 1 to 55. At least how many number(s) is
/ are drawn at random to ensure that there are two numbers whose sum is 24?
Cdc s6 dwoc rit tir 55 s6 nguyén tir 1 dén 55. C6 it nhdt bao nhiéu sé dwoc rit ngau
nhién dé chan chan ton tai hai s6 cé tong bang 24?
Q25. If Alice goes from point A to point B, each step can only move up or move
right. How many way(s) is / are there?
Néu Alice di tir diém A dén diém B, méi buede chi cé thé di 1én hodc di sang phdi. C6
bao nhiéu cach?

B

A—>

15
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PE SO 4:
Logical Thinking/ Tw duy logic

Q1. There are 20 problems in a mathematics competition. The scores of each problem
are allocated in the following ways: 5 marks will be given for a correct answer, 2
marks will be deducted for each incorrect or unanswered answer. How many
guestions does Amy answer correctly if her score is 79?

C6 20 cau hdi trong mét cugce thi todn hoc. Piém cia maéi bai todn dwoc phan bé
theo cdc cdch sau: 5 diém sé duwoc tinh cho mét cau trd loi diing, 2 diém sé bi trir cho
m4i cau trd loi sai hodc khong tra loi digc. Amy trd 6 diing bao nhiéu cdu héi néu
s6 diém cua cd dy 12 79?

Q2. Given that 9" August 2016 is Tuesday, which day of the week is 19" October
20167

Cho rang ngay 9 thang 8 nam 2016 la thir ba, héi ngay 19 thang 10 nam 2016 la thi
may?

Q3. Now Andy needs to cut a melon. At least how many cuts are required to ensure
that he can get 8 equal parts?

Andy can cat mét qud dwa. Héi phdi cdt it nhdt bao nhiéu lan d@é dwoc 8 phan bang
nhau?

Q4. John wrote a 3-digit number on a piece of paper and asked Peter to guess it.
Peter asked again: “Is the number 3217

John replied: “Two digits are correct, but the positions of those digits are both
wrong.”

Peter asked again: “Is the number 7329

John said: “All three digits are correct, but the digits are all in the wrong places.”
What is the number written by John?

John viét mét so 6 3 chit so 18n mét tor gidy va yéu cdu Peter dodn né.

Peter héi lai: “Cé phdi sé 321 khéng?”

John tra loi: “Hai chit s6 déu diing, nhung vi tri cia nhiing chit s6 do deu sai. ” Peter
héi lai: “Cé phai sé 732 khéng?”

John néi: “Ca ba chir s6 déu diing, nhung cdc chit 6 déu ¢ sai vi tri.’
S6 duwoc viét bai John 12 gi?

Q5. According to the pattern shown below, how many circles are there from the 1st
group to the 10" group?

Theo hinh vé dudi day, tir nhém 1 dén nhém 10 ¢ bao nhiéu hinh tron?

s
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Tong hop dé thi va dép dn, hwdng dan gidi ky thi TIMO khéi 5 cde nam

1# Group 2= Group 3= Group
Arithmetic/ S6 hoc
Q6. Find the value of 12 + 22+ 32 + 42 + 52 + 62,
Tim gid tri cia 12+ 22+ 3% + 42 + 52 + 62
Q7. Find the value of 22222 x 33333.
Tim gié tri cua 22222 x 33333.
Q8. Find the valueof4+ 10+ 16 + 22 + ... + 124 + 130.
Timgiatricua4 +10+16 +22 + ... + 124 + 130.
Q9. Find the value of 13 x 36 + 26 x 24 + 108.
Tim gia tri cua 13 x 36 + 26 x 24 + 108.
Q10. Find the value of 2400 + 10 + 2400 + 6 + 2400 + 3 + 2400 + 1.
Tim gia tri cua 2400 + 10 + 2400 + 6 + 2400 + 3 + 2400 + 1
Number Theory/ Ly thuyét sé

Q11.1f a 5-digit number 81A76 is divisible by 36, find the value of A.
Tim sé ¢6 5 chir s6 81A76 chia hét cho 36, tim gid tri cia A

Q12. Find the unit digit of A if

Tim chiz sé tdn cling cua A biét rang

A=3x3x3x..x3xTxTxTx..xT.

100's 100's
Q13. The difference of A and B is 144. A is 7 times of B. Find the value of B.
Hiéu cua A va B 1a 144. A gdp 7 lan B. Tim gié tri cia B.
Q14. The sum of A and B is 168. A is larger than B by 10 times of B. Find the value
of A.
Tong cia A va B 14 168. A I6n hon B gdp 10 lan B. Tim gia tri cua A.
Q15. What is the smallest three-digit number that can be divisible by 6 and 8?
So nhé nhdt c6 ba chir sé chia hét cho 6 va 8 1a s6 nao?

Geometry/ Hinh hoc
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Q16. The figure is formed by 3 squares with areas 64 cm?, 121cm? and 64cm?
respectively. Find the perimeter of the following figure in cm.

Hinh duoc tqo boi 3 hinh vudng c6 dién tich lan ot 12 64 cm?, 121 cm? va 64 cm?,
Tim chu vi cua hinh sau bang cm.

Q17. According to the pattern below, if there are 10 layers, how many cubes are
there?

Theo mdu duéi ddy, néu c6 10 16p thi ¢ bao nhiéu hinh khéi?
=
P Vi

Q18. The figure below is made of 16 small equilateral
triangles. If the perimeter of figure below is 72cm, what is
the difference between before combination and after
combination?

Hinh bén duéi dwoc tao béi 16 hinh tam gidc déu nhé. Néu

/
chu Vi cia hinh dwéi day la 72 cm, hiéu sé chu Vi gitta truéc /\/\/\/\

khi két hop va sau khi két hop bang bao nhiéu?
Q19. The figure below is made of 2 squares. Find the area of the shaded region below
in cm?,
Hinh dudi day duoC tao boi 2 hinh vubng. Tim dién tich cua vung té dim bén dudi
tinh bang cm?.

8 em /

6 cm

Q20. How many rectangles are there in the figure below?
C6 bao nhiéu hinh cha nhdt trong hinh duéi day?
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Combinatorics/ Té hop
Q21. A flight of stairs has 10 steps. David can go up for 1 step, 2 steps, or 3 steps at
a time. How many ways are there for David to go up the stairs?
Cau thang bg c6 10 béc. David ¢6 thé di lén 1 budc, 2 budc hoge 3 bude cling mot
luc. Co bao nhiéu cach dé David di lén cau thang?
Q22. Choose 6 numbers, without repetition, from 1, 4, 5, 6, 7, 9 to form 2 three-digit
number. Find the minimum value of the difference between these 2 numbers.
Chon 6 s6 khong lap tir 1, 4, 5,6, 7,9 @é lap thanh 2 so c6 ba chiz so. Tim gia tri nho
nhat cua hiéu gia 2 so nay.
Q23. Numbers are drawn from the 80 integers 1 to 80. At least how many numbers
are drawn at random to ensure that there are two numbers whose sum is 50?
CAc so duoc r(t tir 80 so nguyén tar 7 den 80. C6 it nhat bao nhiéu sé duroc rit ngau
nhién dé chac chan rang c6 hai so co tong bang 50?
Q24. If Andy goes from point A to point B, each step can only move up or move
right. How many methods are there?
Néu Andy di tir diém A dén diém B, méi buroc chi ¢6 thé di lén hodc di sang phdi. C6
bao nhiéu phwong phap?

B

T

A >

Q25.How many 4-digit numbers are there so that the sum of digits is 6?
C6 bao nhiéu so cd 4 chir sé sao cho téng cac chi so bang 6?
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